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Henry is at the toy store. He has £10 to spend on a gift for his 
little brother.
Toy trains cost £5.00. Balls cost £2.50. Building blocks cost 
£4.50.
List some different gift combinations that Henry could buy. 
Calculate the total amount Henry would pay for each 
combination, as well as any change he might receive.

Alexia is having a dinner party. She has invited 24 friends.
Alexia must organise the tables and chairs. 
There must be no less than 2 people and no more than 6 people at 
each table.
Draw some possible table plans for Alexia’s dinner party.
There does not need to be the same number of people at each table.

Lee is thinking of a four-digit number between 3000 and 3500. 
The digit in the units column is the same as the digit in the hundreds 
column.
The digit in the thousands column and the digit in the tens columns are 
both odd.
Every digit in the number is a multiple of 3.
List some of the possible four-digit numbers that Lee is 
thinking of.

The answer to a multiplication sum is 72.
What could the multiplication sum be?
List some possibilities.
Draw pictures to represent each of these sums.
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Answers to open ended problems – week 6 

 

Yellow questions 

Henry’s Toys 

Things we know: 

Henry has £10 to spend on something for his brother.   

Toy trains cost £5.00 

Balls cost £2.50 

Blocks cost £4.50 

 

What combinations can he buy with his £10 and the change he will get – here are some ideas, 

yours may be different. 

 

Train + ball   

£5 + £2.50 = £7.50 which gives you £2.50 change 

 

Train + blocks  

£5 + £4.50 = £9.50 which gives you 50p change 

 

Train + 2 balls  

£5 + £2.50 + £2.50 = £10 so no change 

 

Blocks + ball 

£4.50 + £2.50 = £7 which gives £3 change 

 

 

Alexia’s dinner party problem 

With 24 guests, Alexia can have many different table plans. Your plans will probably all look 

different and the question doesn’t really say if Alexia is sitting down as well. As long as your 

pictures can tick all these criteria, you can tick your work!  

• Do you have either 24 seats or 25 seats all together?  

• Have all your tables got 2 or more seats at them? 

• Have all your tables got 6 or less at them? 

 

 

Lee’s number problem  

 

What we know – Lee is thinking of a 4 digit number between 3000 and 3500.  

The digit in the unit (ones) column is the same as the digit in the hundreds column. The digits 

in the thousands and tens column are both odd numbers. Every digit is a multiple of three.  



 

The last clue is the one we should look at first! Digits that are multiples of three are 3, 6 

and 9 so they are the only digits we are using here.  

 

I’m using a grid to help me record some possibilities. Remember the thousands and tens need 

to be odd numbers and the ones and hundreds are the same digit. 

 

Th H T O 

3 6 9 6 

3 3 9 3 

3 9 9 9 

9 6 3 6 

9 3 3 3 

9 9 3 9 

 

See how many you can find and as an extra task, you could put them in order! 

 

 

The answer is 72 

 

For this question you could look at sets of tables to see which tables include the answer 72 

as a start.  

 

For example if you look at the six times table, 6 x 12 is 72. Think how you could draw that? 

You could draw six lots of 12 and also 12 lots of 6.  

 

72 is also an even number – you’ll not see 72 as an answer in the 2 times table but if you know 

it’s even, you can halve it to give you another picture to draw. 

 

See how many you can find to draw        

 

Blue Questions 
 

Chen’s problem 

Chen only wins a prize if his three numbers fit one of these criteria: 

1. They add up to a number less than 50 

2. They add up to a multiple of 5 (something in the 5 times table) – the answer will need 

to end in a 0 or a 5 to be a multiple of 5.  

3. They add up to a number greater than 80 

The numbers he can pick from are: 21, 8, 16, 32, 65 and 14 

Here are some combinations that fit the first criteria: 

16 + 8 + 14 = 38  21 + 8 + 14 = 43  



Here are some that fit the second: 

16 + 14 + 65 = 95  32 + 8 + 65 = 105 

Here are some that fit the last: 

32 + 14 + 65 = 111  21 + 8 + 65 = 94 

 

Jennifer’s gifts 

Things we know: 

 

Shirts cost £12 

Trousers cost £22 

Ties cost £6.50 

Socks cost £3 

What combinations can she buy with her £25 and the change she will get – here are some 

ideas, yours may be different. 

 

Shirt + Tie + Socks  £12 + £6.50 + £3 = £21.50 and £3.50 change 

3 Ties  £6.50 x 3 = £19.50 and £5.50 change 

Trousers + Socks  £22 + £3 = £25 and no change 

Number picks 

Pick any four digits between 1 and 9 and create as many numbers involving decimals as you 

can.  

Write the numbers in ascending and descending order; put your numbers on a number line; 

draw a picture to represent the numbers you’ve created.  

Your responses will be very different. Here are a few I have created using 2, 4, 6 and 8.  

2.468  2.486  2.648  2.684  2.846  2.864 

24.68  24.86  26.48  26.84  28.46  28.64 

I’ve put them in ascending order as I created them.  

Think about your place value knowledge for decimals to put them on a number line and draw a 

picture. 

hundreds tens ones ● tenths hundredths thousandths 

  2 ● 4 6 8 

 2 4 ● 6 8  

 

 



Dominique’s school outing 

What do we know: 

There are 160 students in the grade (year group). You need to put them in groups of: 

• No less than 4 

• No more than 10 

How many groups could there be? How many students would be in each group?  

There will be lots of different groupings you could make, here are a few suggestions on how 

you could go about this. 

Four is the smallest grouping you can have so how many 4s are in 160?  

160 ends in a 0 so it’s divisible by 5 so how many groups of 5 will you get? 

Try dividing 160 by 6 and 7 – you will get remainders – is this an issue? The question doesn’t 

ask for equal groups so what could you do? 

The options are endless. Give us a few of your ideas.  

 
















